01104/02204/P01104

2018 (Even)

Time : 3 Hrs. Sem. I/11

EME & EM
Full Marks : 80

Pass Marks : 26

There are Parts in the Question (Part-I & -1I)
T 99 & q @vs Q(Tve-1 T @ue-Il)

Answer all 20 questions from Group A, each question

carries 1 mark.

T9-A ¥ ft 9o &% SW T, TAF U K AH 1 3HF T |

Answer all four questions from Group B, each question

carries 4 marks.

J9-B W IR el & ST ¥, Yok YA hl HH 4 3 B |

Answer all four questions from Group C, each question

carries 10 marks.

TA-C ¥ o) Yo & I <, e 99 o1 0 10 3fh |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH TR % A AU H IW TH B 8 (AR FHH H) B
=feT, srgen & T&f Sd S Hehdl © |

The figures in right hand margin indicate marks.
T¢ s & ek YUk % G B |
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1.

Part -1 (@vs-1)

GROUP-A

Choose the most suitable answer from the following
options :

Taifys Sudad faswew &1 g fafew

(1)

(1)

(ii)

Heavy diesel engines work on .......... cycle
(a) Otto

(b) Diesel

(c) Dual

(d) Carnot

SN S - oIF R FE FW R
(31) e

(a) Erea

(®) T

(2) =M

In four stroke engine one cycle is completed in
............ revolutions of crankshaft

(@) One
(b) Two
(c) Three
(d) Four

(i) =g T=M H TH T hhRIA F ...

JFR W gof @@l 2
() T
(7) =

(iif)

(iif)

(iv)

(iv)

3 01104/02204/P01104
(&)
(}) =R
Spark plug is used in ............ engine
(a)  Petrol
(b) Diesel
(c) Steam
(d) All of above

Wk W .. e={ H TEN gl 2

(|) =S
(Z) SYUE |

The efficiency of steam engine is .......... than
petrol engine.

(a) More
(b) Less
(c) Equal

(d) Not comparable.
M T I ZE YA T R gor A
EEil
(31) sFm=T
(9) =dH
(9) ¥
(%) erqera
PTO
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v)

v)

(vi)

The percentage of carbon in cast iron is ........
(@ 2t0o4d4 %

(b) 4to8 %

(c) 8tol12 %

(d 05tol %

(31) 2to4 %

() 4t08 %

() 8to 12 %

() 05t01 %

........ is a boiler accessory
(a) Economiser

(b) Blow off cock

(c) Safety Valve

(d) Pressure guage

oooooooooooo Qa; 5||53|3| lsl QE'EIEI éél

(vii)

(Vi)

(vii)

(vii)

5 01104/02204/P01104

For fixed velocity ratio .......... drive is used.
(a) Flat belt

(b)  V-belt

(c) Rope

(d) Gear

fgd amgaa & fag ... grEd &
ST g R

(1) ®ie e

() d-aw

() T

(3) frR

Spur gear is used when axes of shaft are .........
(a) Parallel

(b) Coplanar

(c) Both (a) and (b)

(d) None of these

TR fiER ST 7O H O B
w1 feafa o w@@ R

(31) FHAMTR

(9) THdea

(|) = () qA (9)

() STWH wHE I

PTO
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(ix) All engines works on .............. law of GROUP B
thermodynamics. Answer all Two Questions. 5%x2=10
() First gt q v w S dAfNT |
(b) Second
2. Define external combustion engine Discuss its merits
(c) Zeroth .
and demerits. 5
(d)  None of these aed T8d T i IR ®| THE TON qel
(ix) §F T=H UHERAMAE & e, ISEAR o w feRE W
R wE FWA R Or (o)
(1) 5o Write classification of i 1 busti i 5
rite classitication of internal combustion engine.
() g ‘
) o <EEd T @ e fag|
(T) SYUE Hiz &l 3.  Write a short note on gas welding 5
(x)  Soldering is done for ........... material. T aifeet W ww wfww foeon foe
(a) Hard Or (37214T)
(b)  Soft What is the function of economiser in boiler 5
(c)  Both (a) and (b) arSES W SRS 1 @l wE Bl €7
(d) None of these
, GROUP C
(x) Hesl ... e & few fmen wmr 2
(31) F3R Answer all Two Questions. 10x2=20
(@) T3 gft &y @ I AN |
(|) TA (1) qen () 4.  Write the working principle of four stroke Petrol engine.
(3) ST Hls T Iged Ui T & & Ugfd el fael o 10

PTO
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Or (31214T)

Write comparision between fire tube and water tube
boller . 10

R A qA A P O AF W OSTWR TR

oy

Define velocity ratio. of belt drive. How slip in belt
affects velocity ratio of belt drive. 10

Se2 R % AU I URIYG #| dee B Wi
AT H HY A w22

Or (31214T1)

Write a short note on soldering process. 10
dieef dfshan W wH dfyw foeroh fog|
Part 11(Eve-11)
GROUPA

Choose the most suitable answer from the following
options :

Taifys Sudad faswew &1 g fafew

(xi) Quarring of stones is the process of :

(a) lyinning a suitable shape to the stone

(b) Applying a coat of a chemical to same it

from deterioration
(c) Breaking it from its natural outcrop

(d) None of the above

9 01104/02204/P01104
(xi) Tl # TRA & fafy @
(37) TR H1 3fad mwR 3
(4) & ¥ ¥99 & fau SUs IW TH
AR @9 3
(W) @& wgfas a9 ded
(7) IWH H Hiz Tall
(xi)) For brick making, clay should have composition
of :
(a) Clay 60-70%, sand 20-30% lime 5-10%
(b) Sand 65-70% Clay 25-30% iron oxide
4-5%
(c) Iron oxide 60%, Sand 20%, Clay 20%
(d) None of the above
i) 32 99 H Fo H Wew e =@fEw
(1) FA60-70%, T 20-30%, TA5-10%
(F) aq 65-70%, FA 25-30%, STAHA
SAfFEE 4-5%
(F) A SRS 60%, oI 20%, FA20%
(7) IWH H wHIE a0

(xii) As per BIS recommendation compressive

strength of A-class Brick is:
(a) 250 kg/cm?
(b) 200 kg/cm?
PTO
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(c) 140 kg/cm?
(d) None of the above

(xii) BIS & oTOR Yo 9ot 2 &1 wEfed

gmed fruifa 2

(1) 250 fomer Tmmy 2
() 200 fomert wm/ SH?
(9) 140 fower wma/ A2
() SWa H & &

(xiv) Hydrated lime is:
(a) The lime to which only required amount
of water for hydration has been added
(b)  Only mode from hydraulic lime by adding
water into it
(c) A type of lime that has enough water so
that it 10 in the form of al liquid.
(d) None of the above
(xiv) Sed I B

(3) egEd & fau fow ot =1 sSfea
" A W ST
() faw eEeifas =@ & 9t St SA

(9) U& YR &1 A1 599 &1 761 A
Tt & &HRUT 39 & ®4 H BT

(3) SWed H Hig &l

(xv)

(xv)

(xvi)

1 01104/02204/P01104
The four essential constituents of ordinary
portland cement are, in order of decreasing
proportions:
(a) Lime, Silica, Alumina and Fe oxides
(b) Silica, Alumina, Fe oxides and lime
(c) Alumina, Silica, lime & Fe oxider.
(d) Fe oxider, Alumina, lime & silica.
YRl 9 ofe HWHe o WR SEvds Skl
H W UM ® HH W B e
(&) =, fafert, sweife 6 weE SRS
(%) fafaer, swgfe, w@ siaEe @ g
(@) fafas, 97 @ ®@ SRS
(F) W@ AdEs, ST, g0 & fafaw

Annual rings in a tree describe:

(a) The rounded structure of tree trunk

(b) The rings made up of cells. That are
added every year by the cell division that
takes place beneath the berk

(c) The circular openings made by termite in
the tree trunk

(d) None of the above.

(xvi) U H o Fo@ wdmE e

(1) g 98 H AR F&
(9) B & = YA® a9 HIREH W
I T H T Bl

PTO
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(9) 98 o€ & =X I\&k FU AR
T TIE AR
(3) S ° HrE

(xvil) Seasoning is a process of :
(a) Felling the trees in proper season

(b) Sawing the timber in a proper manner

(c) Reducing the Original moisture content
of a tree to an admissible limit

(d) None of the above
(xvi)) THET w1 STER uH fafy e
(1) 3fe@ =g o U wHET
(7)) sfaa @@ @ el faem
(@) 95 # g TH K FHA R A
| d% A
(3) ST o &g &l

(xviil) Specific gravity of plastic is as compared to

magnesium is

(a) Lower
(b)  Higher
(c) Same

(d) None of the above
(xvil))ATHTE=m & g § wtes o fafre
Ted 2
(31) %A
(7)) sfy=

13 01104/02204/P01104
(9) s
(7) IWH H Hiz Tall
Glass threads have a tensile strength which may
be
(a) As high as 108x10"kg / cm’
(b) As low as 100 kg / cm®
(c)  Varying between 700-7000 kg / cm?
(d) None of the above

(xix) FfE OF H qAE T B GRA ©

(xx)

(31) I=gag  108x10" kg /cm’

() f=1m 100 kg / cm® T

(¥) 700-7000 kg /cm> & S_ed W
(3) SWaa H Hg LI

Spalling is the term used to express

(a) Decay and disintegration of refractories
on repeated use

(b)  mining of Sulpher with rubber to inprove
its properties

(c) Method of tulisting the strands in a
wirerope

(d) Cleaning the surface of word before
applying paint.

PTO
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Answer all Two Questions.

(xx)?ﬁ'ﬁq?\"olﬂdqm‘l =R HE & fag B
(1) Fhael & aUaR ST ¥ SHE &
@ fogfed s@ =
() WR & & O H w@gad & fau
IH HWEwL & AT &
(9) aR & | g o UeH <9 & fafy
(7)) oFsl § W R F T SR

gde k1 W% K

GROUP B

5x2=10

Tt yE & I Gfeu |

6.

What are the common clay product? Describe in short.

UReT guae T Scaed s 27 §Wem H quie

Eay 5
Or (31e1aT)

What is the main chemical composition of portland
cement? 5

iz ofe Wiz w1 e TEEte g F @?

What is an adhesive? Name various type of adhesive
commonly used. 5

Afartt 2?7 WURUGH ®M H AM 9
faftm R = sifqart @i =1 9m <

Answer all Two Questions.

15 01104/02204/P01104

Or (372714T)

Give the geological classification of the following

Stones. Marble, sandstone granite, Slate, lime Stone

feAifend Weerl o1 JolsTeh SiiehTo] hiITST WHIR,
TR, UEES, Tie, FA-Teer| S

GROUP C

10x2=20

Tt F Yl ® I ST

8.

Distinguish between ordinary bricks and fire bricks.

Explain the three main test conducted on bricks

YR 32 T Sf9® 3¢ & 9 IR TR Hi|
32 W I S H 9@ 1 qea wWeon & s
=Xyl 10

Or (372714T)

Discuss the methods adopted for preservation of

timber.
RS o WU TG AT SHerern fafedi w1 avE
F 10

PTO
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9.

Write difference between thermoplastic and thermo-
Setting plastic. Write in brief the casting of different

methods of plastic material. 10

s iR odfafen wifes § o=r fafew
wfies g2 e @ fafyw fafiar geg o fafeg

Or (31214T1)

Give type of manufacture, types and uses of glass. 10

HE H IURA H TR, HAG B FHR T

START T Sooi@ R

koK



